Final Exam l ,_h" //\SW
Math 353 : ; o\ ¢
Summer Term I, 2022 Name:
Thursday, June 23

Time Limit: 180 Minutes

This exam contains 10 pages (including this cover page) and 9 questions. The total
number of points on this exam is 108. While this is a closed book, closed notes exam, you
are allowed to use your one page review sheet, front and back, written on an 8.5 x 11 inch
physical piece of paper in your own handwriting. While your review sheet must have been
created with 20th century technology, you may take this exam on a tablet if you like, or on
paper. You may also use your review sheets from the previous two exams.

Show all of your work (on the backs of pages, if necessary) and circle your answers. If
you do not completely solve a problem, explain what you do understand about it. If you
would like to guess about a problem, clearly say so. This will maximize your partial credit.
No collaboration on this exam is allowed. Good luck!
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1. (12 points) Find the solutions to the following differential equations that are valid in a
small neighborhood of the given initial conditions.

(a)1/=ui:,’-")-wherey=1whena:=0.

e‘ﬁ‘dg = 3MN(X) dx
N
= R._,CQS/(K) "V#\k“’ e

= © +| = CoS(X)

{/ﬂm(@ 4 COS(K))/

(b) % = y*/2 where y(0) = 1.

5("3/25%1 = dx




Math 353 Final Exam - Page 3 of 10

Thursday, June 23

2. (12 points) Find the general solutions to the following differential equations
(a) ty + 5y =t

(b) ¥ — 4y + 4y = 4€™
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3. (12 points) Consider the nonhomogeneous differential equation
Y’ — 10y + 25y = €.

(a) What is the general solution to the corresponding homogeneous differential equation
(right hand side equa.l to zero)"

%v e —) r ——[0(\-,‘25 =y 2 [ = 5/5

Gn = ceewe”

(b) Using the method of undetermined coefficients, find a particular solution to the
original nonhomogeneous differential equatlon. H — (

oy gp At e A=Yz
/= (sAt’+2A%) e
5(” = (a5pL" + 20AT *Zﬂ)@

(c) Find the solution to the original nonhomogeneous differential equation

with y(0) = 0 and /(0) = 0. ot

_ L% +(C,+sz)€

[p)’C/ Hc:o:a—‘a
3 y’/ﬂ =(6,t5¢) /7_ 52
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4. (12 points) Consider the differential equation

y'(t) + 6y/(t) + 5y(t) = 10+ 6(t — 2)
with initial conditions y(0) = 0 and #/(0) = 0.
(a) Compute the Laplace transform of both sides of the equation and solve for Y'(s).

_ 6, 523
(8*+ 68 +5)Y(s) =3 +€e_zs
\ [O = ¥
Y(S) = S(S*()(S+5) S‘H)(ST:E—)—- VL
- (
(- % 3]s €7 )
)

S+§ S+l

(b) Compute y(t) as the inverse Laplace transform of Y'(s).

Yle) =HE-5€7 20« §U(4) )h(t-2)

2=£ l() =5
™ set 2 e hume - J

l—

1
2

(c) Describe the behavior of y(t) for large ¢.



Math 353 Final Exam - Page 6 of 10 Thursday, June 23

5. (12 points) Suppose a metal rod represented by the interval 0 < £ < 1 has an initial
temperature of u(zx) = 10 + 20z + 5sin(3nz) at ¢t = 0. Suppose that u(z, t) satisfies the

heat equation
Ut = Uzy

for t > 0, with boundary conditions u(0,¢) = 10 and u(1,t) = 30.
(a) Compute the temperature u(z,t) of the metal rod for ¢ > 0.

/t{\uguxx Net w(x,®) = Vixt) ~ (10+20x), Then

W(ot)= (0 \/il_,,i‘— W\ t)=30 gef,,;é%m;@é/za/m i

TASEe -4/

Yo =0 — Uikt =5s(smx) €
| o

o 7\ 1
— [0t 20X+ ’532“(3777() C
Ve 5snem) Honcs)
(x0)= 2
-9 %

U(xt) = |0+20x * SSIn3Tx) €

(b) What is the temperature of the metal rod at z = 0.5 when ¢ =17

—9m*
e

|

0+10+5(-1)
p-5-em

(05,1
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6. (12 points) Let

where

o ’/vOM ) | =2
f(m):Eansm(mr:cﬁ), ]QOJ\EO& _._._._L/

2
By E= 2/ z'sin(nnz/2) dz.
0

= SZ [S%gn(x) = x"] gin(n T x) dx

-2
tﬂ{x‘f, X >0

-X¥ x<0o

(a) Is f(z) an even function, an odd function, or neither? What is the period of f(z)?

Od&) With period 4

(b) Graph f(z) for —10 < z < 10.

(c) What is f(—9)?

S

~§:(~9) :‘F(—S) = 'F(‘ /) = - (—{)4 = @

(d) What is £(6)?

160 = (©) (Ml g betosan 16 i1l

o5 shown on graph)
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7. (12 points) Solve the differential equation
= where y is expressed as a powers series in z around z = 0 in the case that y(0) = 20 and

s '(0) = 3. Explicitly compute the first five terms of the power series.
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8. (12 points) Suppose that a restaurant has an outdoor eating area (modeled as the xy
plane) with a circular outdoor space heater of radius 1 (centered at the origin, modeled
as the disk of radius 1). Suppose that the steady-state temperature u(r,@) satisfies
Laplace’s equation

Upr + luT i lzww =0,
r T
goes to zero for large r, and that u(1,6) = 20 cos(38) — 30sin(26) on the boundary of
the outdoor space heater.

(a) Solve for u(r,8) for r > 1.

L ((\)9\ =0 P’5Co$(§9) - 30r°Sl n(20)

gwﬁo 200 fo~ (gl 1 wotfchaa e banleslt

H&E'HOHS ) gpmﬁ Ae hanmoniC From Jiat?

} 1 | singe) | 1 cottt)
[ e | risin(n®) | ©"cotos)

wl\(J\ Cﬂmﬂd,}é)ﬁm fQﬂ@/‘ﬂﬁbA 07(\ %/\/&A/&C

(b) Suppose you are seated in the restaurant where r = 5 and 6 = m/2? What is the
steady-state temperature at that location?

OMS:%) :0‘20'5—3'0 "”30'5:?"0 :@
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9. (12 points) Suppose that u(z,t) satisfies the wave equation
Uy = Uzy

for0 < z < wand t > 0, has Neumann boundary conditions u,(0, t) = 0 and u,(m,t) = 0,
and initial conditions u(z,0) = 5cos(3z) and u(z,0) = 2cos(7z).

(a) Solve for u(z, t).

N

=Uxx 2o m[‘
u& Uaﬁiaﬂ(’&

ux(o/t‘ =0 L(x(’/?j‘d =0

W (%0) = 5cos(3x)”
o) =acos(74)'] y
o I

—_— v \” |
U(xt] = 5eos(3x) CoS(34) * %cwﬁ)f m(7ﬂ/

u (%A = 5cosax) » O +2 . Cos(7x) T¢o%0)
= 2003(7x) as reguired.

(b) What is u(0, 10)?
w(o,0)=5 cos(o)cos(30) %* Cosfo) sin(70)
= 5cos30) + Zsin(70)



